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(3)
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i=     (Model Question paper)

d{kk%&d{kk%&d{kk%&d{kk%& 12oh a12oh a12oh a12oh a Class 12th

fo"k;%&fo"k;%&fo"k;%&fo"k;%& i;kZoj.ki;kZoj.ki;kZoj.ki;kZoj.k Subject:- Environment
le;%&le;%&le;%&le;%& 3 ?k.Vs3 ?k.Vs3 ?k.Vs3 ?k.Vs Time:- 3 Hours
iw.kk Zd%&iw.kk Zd%&iw.kk Zd%&iw.kk Zd%& 7 57 57 57 5 Maximum Marks :-  75

funsZ’k&¼v½funsZ’k&¼v½funsZ’k&¼v½funsZ’k&¼v½ iz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vad
fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½
Question No. 1 to 6  are very  Short  answer  type question. Each carries 2
marks (Limitation of answer 30 words)

iz’u 1iz’u 1iz’u 1iz’u 1 &&&& tSo fofo/krk dks ifjHkkf"kr dhft, AtSo fofo/krk dks ifjHkkf"kr dhft, AtSo fofo/krk dks ifjHkkf"kr dhft, AtSo fofo/krk dks ifjHkkf"kr dhft, A
What is Biodiversity ?

iz’u 2iz’u 2iz’u 2iz’u 2 &&&& Hkkjr esa tUrqvksa dh yxHkx fdruh iztkfr;kWa ik;h tkrh gS \Hkkjr esa tUrqvksa dh yxHkx fdruh iztkfr;kWa ik;h tkrh gS \Hkkjr esa tUrqvksa dh yxHkx fdruh iztkfr;kWa ik;h tkrh gS \Hkkjr esa tUrqvksa dh yxHkx fdruh iztkfr;kWa ik;h tkrh gS \
What species of animals diversity are found in India ?

iz’u 3iz’u 3iz’u 3iz’u 3 &&&& NRrhlx<+ esa ck?k ifj;kstuk dgkWa ij fLFkr gS \NRrhlx<+ esa ck?k ifj;kstuk dgkWa ij fLFkr gS \NRrhlx<+ esa ck?k ifj;kstuk dgkWa ij fLFkr gS \NRrhlx<+ esa ck?k ifj;kstuk dgkWa ij fLFkr gS \
Where is the project tiger cited in Chhattisgarh ?

iz’u 4iz’u 4iz’u 4iz’u 4 &&&& gesa ?kj ds ikl cxhpk D;ksa fodflr djuk pkfg, \gesa ?kj ds ikl cxhpk D;ksa fodflr djuk pkfg, \gesa ?kj ds ikl cxhpk D;ksa fodflr djuk pkfg, \gesa ?kj ds ikl cxhpk D;ksa fodflr djuk pkfg, \
Why gardening be developed near houses ?

iz’u 5iz’u 5iz’u 5iz’u 5 &&&& doduk’kh jlk;u D;k gksrs gSa \doduk’kh jlk;u D;k gksrs gSa \doduk’kh jlk;u D;k gksrs gSa \doduk’kh jlk;u D;k gksrs gSa \
What are fungicide ?

iz’u 6iz’u 6iz’u 6iz’u 6 &&&& HkaMkj.k ¼laxzg.k½ ds le; uqdlku igqW apkus okys dhVksa ds uke crkb;s AHkaMkj.k ¼laxzg.k½ ds le; uqdlku igqW apkus okys dhVksa ds uke crkb;s AHkaMkj.k ¼laxzg.k½ ds le; uqdlku igqW apkus okys dhVksa ds uke crkb;s AHkaMkj.k ¼laxzg.k½ ds le; uqdlku igqW apkus okys dhVksa ds uke crkb;s A
Write the names of insects caused spoilage at a time of storage of food
grains.

funsZ’k&¼c½funsZ’k&¼c½funsZ’k&¼c½funsZ’k&¼c½ iz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vad
fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 'kCn½
Question No. 7 to 12 are short answer type question. Each carries 3 marks.
(Maximum limit of answer 50 words)
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iz’u 7iz’u 7iz’u 7iz’u 7 &&&& uohuhdj.kh; lalk/ku fdu ifjfLFkfr;ksa es a vuohuhdj.kh; lalk/ku gksuohuhdj.kh; lalk/ku fdu ifjfLFkfr;ksa es a vuohuhdj.kh; lalk/ku gksuohuhdj.kh; lalk/ku fdu ifjfLFkfr;ksa es a vuohuhdj.kh; lalk/ku gksuohuhdj.kh; lalk/ku fdu ifjfLFkfr;ksa es a vuohuhdj.kh; lalk/ku gks
tkrk gS \ le>kb, Atkrk gS \ le>kb, Atkrk gS \ le>kb, Atkrk gS \ le>kb, A
Under what conditions non-renewable resources become renewable
resources ? Explain.

iz’u 8iz’u 8iz’u 8iz’u 8 &&&& vH;kj.; ,oa jk"Vªh; m|ku esa D;k varj gS \vH;kj.; ,oa jk"Vªh; m|ku esa D;k varj gS \vH;kj.; ,oa jk"Vªh; m|ku esa D;k varj gS \vH;kj.; ,oa jk"Vªh; m|ku esa D;k varj gS \
What is the differenace between sanetuaries and national park ?

iz’u 9iz’u 9iz’u 9iz’u 9 &&&& e`nk iznw"k.k ds izHkko dks le>kb, Ae`nk iznw"k.k ds izHkko dks le>kb, Ae`nk iznw"k.k ds izHkko dks le>kb, Ae`nk iznw"k.k ds izHkko dks le>kb, A
Explain the effects of soil pollution.

iz’u 10iz’u 10iz’u 10iz’u 10 &&&& taxyh tho O;kikj dks lrr~ fodkl dh pqukSrh ds :i esa le>kb, Ataxyh tho O;kikj dks lrr~ fodkl dh pqukSrh ds :i esa le>kb, Ataxyh tho O;kikj dks lrr~ fodkl dh pqukSrh ds :i esa le>kb, Ataxyh tho O;kikj dks lrr~ fodkl dh pqukSrh ds :i esa le>kb, A
Explain the wild life business in the form of challenge to sustainable
development.

iz’u 11iz’u 11iz’u 11iz’u 11 &&&& Hkkjr dh laLd`fr tyfiz; laLd`fr jgh gS \ le>kb, AHkkjr dh laLd`fr tyfiz; laLd`fr jgh gS \ le>kb, AHkkjr dh laLd`fr tyfiz; laLd`fr jgh gS \ le>kb, AHkkjr dh laLd`fr tyfiz; laLd`fr jgh gS \ le>kb, A
The culture of India is a water loving culture. Explain.

iz’u 12iz’u 12iz’u 12iz’u 12 &&&& m|kfudh Qlyksa ds iz’kks/ku dh fo’ks"krk;sa fyf[k, Am|kfudh Qlyksa ds iz’kks/ku dh fo’ks"krk;sa fyf[k, Am|kfudh Qlyksa ds iz’kks/ku dh fo’ks"krk;sa fyf[k, Am|kfudh Qlyksa ds iz’kks/ku dh fo’ks"krk;sa fyf[k, A
Write the importance of processing of Horticulture crops.

vFkok vFkok vFkok vFkok (OR)

fofHkUu tSo moZjdksa ds uke o mudh mi;ksx fof/k dh Qlyokj tkudkjhfofHkUu tSo moZjdksa ds uke o mudh mi;ksx fof/k dh Qlyokj tkudkjhfofHkUu tSo moZjdksa ds uke o mudh mi;ksx fof/k dh Qlyokj tkudkjhfofHkUu tSo moZjdksa ds uke o mudh mi;ksx fof/k dh Qlyokj tkudkjh
nhft, Anhft, Anhft, Anhft, A
Give the information about various organic fertilizers its name and use.

funsZ’k&¼l½funsZ’k&¼l½funsZ’k&¼l½funsZ’k&¼l½ iz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vad
fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 'kCn½
Question No. 13  to 17 are short answer type question. Each carries 4
marks. (Maximum limit of answer 75 words)

iz’u 13iz’u 13iz’u 13iz’u 13 &&&& tSo fofo/krk ds vkfFkZd egRo dks le>kb, AtSo fofo/krk ds vkfFkZd egRo dks le>kb, AtSo fofo/krk ds vkfFkZd egRo dks le>kb, AtSo fofo/krk ds vkfFkZd egRo dks le>kb, A
Explain economic values of Biodiversity.

iz’u 14iz’u 14iz’u 14iz’u 14 &&&& fuEu ij laf{kIr fVIi.kh fyf[k, AfuEu ij laf{kIr fVIi.kh fyf[k, AfuEu ij laf{kIr fVIi.kh fyf[k, AfuEu ij laf{kIr fVIi.kh fyf[k, A
(i)  ladVkiUu tkfr;kWaa  ladVkiUu tkfr;kWaa  ladVkiUu tkfr;kWaa  ladVkiUu tkfr;kWaa (ii)   foyqIr tkfr;kWa  foyqIr tkfr;kWa  foyqIr tkfr;kWa  foyqIr tkfr;kWa
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Write short notes on following -
(i) Threatened species (ii) Extinct species

iz’u 15iz’u 15iz’u 15iz’u 15 &&&& oSdfYid bZa/ku mRiknu vkSj n{k ekuo ’kfDr ds chp laca/kksa dh O;k[;koSdfYid bZa/ku mRiknu vkSj n{k ekuo ’kfDr ds chp laca/kksa dh O;k[;koSdfYid bZa/ku mRiknu vkSj n{k ekuo ’kfDr ds chp laca/kksa dh O;k[;koSdfYid bZa/ku mRiknu vkSj n{k ekuo ’kfDr ds chp laca/kksa dh O;k[;k
dhft, Adhft, Adhft, Adhft, A
Explain about the relation between optional fuel production and skilled
man power.

iz’u 16iz’u 16iz’u 16iz’u 16 &&&& Vid flapkbZ dk izpyu D;ksa c< jgk gS \ le>kb, AVid flapkbZ dk izpyu D;ksa c< jgk gS \ le>kb, AVid flapkbZ dk izpyu D;ksa c< jgk gS \ le>kb, AVid flapkbZ dk izpyu D;ksa c< jgk gS \ le>kb, A
Why drip irrigation is more popular ? Explain.

vFkok vFkok vFkok vFkok (OR)

Vid flapkbZ dh fo’ks"krk,Wa D;k gS \ QOokjk o Vid flapkbZ esa D;k varjVid flapkbZ dh fo’ks"krk,Wa D;k gS \ QOokjk o Vid flapkbZ esa D;k varjVid flapkbZ dh fo’ks"krk,Wa D;k gS \ QOokjk o Vid flapkbZ esa D;k varjVid flapkbZ dh fo’ks"krk,Wa D;k gS \ QOokjk o Vid flapkbZ esa D;k varj
gS \gS \gS \gS \
What is main features of drip irrigation ? What is the differences
between drip and fountain type of irrigation ?

iz’u 17iz’u 17iz’u 17iz’u 17 &&&& gfjr dzkafr D;k gS \ gfjrdzkafr ds i;kZoj.k ij gq, izHkkoksa dk o.kZugfjr dzkafr D;k gS \ gfjrdzkafr ds i;kZoj.k ij gq, izHkkoksa dk o.kZugfjr dzkafr D;k gS \ gfjrdzkafr ds i;kZoj.k ij gq, izHkkoksa dk o.kZugfjr dzkafr D;k gS \ gfjrdzkafr ds i;kZoj.k ij gq, izHkkoksa dk o.kZu
dhft,Adhft,Adhft,Adhft,A
What is green revolution ? What are the main effects of green revolution
on environment ? Explain.

vFkok vFkok vFkok vFkok (OR)

e`nk D;k gS \ e`nk Qlyksa ds fy, D;k vko’;d n’kk,Wa iznku djrh gS \e`nk D;k gS \ e`nk Qlyksa ds fy, D;k vko’;d n’kk,Wa iznku djrh gS \e`nk D;k gS \ e`nk Qlyksa ds fy, D;k vko’;d n’kk,Wa iznku djrh gS \e`nk D;k gS \ e`nk Qlyksa ds fy, D;k vko’;d n’kk,Wa iznku djrh gS \
What is soil & what is the importance of soil for plants ?

funsZ’k&¼n½funsZ’k&¼n½funsZ’k&¼n½funsZ’k&¼n½ iz’u Øekad 18 ls 22 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vad
fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 'kCn½
Question No. 18  to 22 are long answer type question. Each carries 5 marks.
(Maximum limit of answer 150 words)

iz’u 18iz’u 18iz’u 18iz’u 18 &&&& izd`fr iznRr tSo fofo/krk ekuo ds fy, ojnku gS A D;ksa \izd`fr iznRr tSo fofo/krk ekuo ds fy, ojnku gS A D;ksa \izd`fr iznRr tSo fofo/krk ekuo ds fy, ojnku gS A D;ksa \izd`fr iznRr tSo fofo/krk ekuo ds fy, ojnku gS A D;ksa \
Biodiversity is a gift to mankind. Why ? Explain.

iz’u 19iz’u 19iz’u 19iz’u 19 &&&& i;kZoj.k izca/ku ds bfFkdy ¼uSfrd½ igyw ij izdk’k Mkfy;s Ai;kZoj.k izca/ku ds bfFkdy ¼uSfrd½ igyw ij izdk’k Mkfy;s Ai;kZoj.k izca/ku ds bfFkdy ¼uSfrd½ igyw ij izdk’k Mkfy;s Ai;kZoj.k izca/ku ds bfFkdy ¼uSfrd½ igyw ij izdk’k Mkfy;s A
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Throw a light on account for ethical consideration of environmental
management.

iz’u 20iz’u 20iz’u 20iz’u 20 &&&& vkfFkZd fu;a=.k fdls dgrs gS \ vkfFkZd uhfr dh lQyrk gsrq dkSu&dkSuvkfFkZd fu;a=.k fdls dgrs gS \ vkfFkZd uhfr dh lQyrk gsrq dkSu&dkSuvkfFkZd fu;a=.k fdls dgrs gS \ vkfFkZd uhfr dh lQyrk gsrq dkSu&dkSuvkfFkZd fu;a=.k fdls dgrs gS \ vkfFkZd uhfr dh lQyrk gsrq dkSu&dkSu
ls fu;a=.k yxk;s tkrs gSa \ls fu;a=.k yxk;s tkrs gSa \ls fu;a=.k yxk;s tkrs gSa \ls fu;a=.k yxk;s tkrs gSa \
What is economic control system ? What are the measure controls is the
success of economical policy ?

vFkok vFkok vFkok vFkok (OR)

ok;q esa lYQj MkbZvkDlkbM iznw"k.k ls dkSu&dkSu ls ikS/kksa ij fdl izdkjok;q esa lYQj MkbZvkDlkbM iznw"k.k ls dkSu&dkSu ls ikS/kksa ij fdl izdkjok;q esa lYQj MkbZvkDlkbM iznw"k.k ls dkSu&dkSu ls ikS/kksa ij fdl izdkjok;q esa lYQj MkbZvkDlkbM iznw"k.k ls dkSu&dkSu ls ikS/kksa ij fdl izdkj
ls nq"izHkko iM+rk gS \ o.kZu dhft, Als nq"izHkko iM+rk gS \ o.kZu dhft, Als nq"izHkko iM+rk gS \ o.kZu dhft, Als nq"izHkko iM+rk gS \ o.kZu dhft, A
What are the adverse effect on the different plant on account of SO2

pollution in the air ? Explain.

iz’u 21iz’u 21iz’u 21iz’u 21 &&&& lrr~ miHkksx dk vFkZ D;k gS \ lrr~ miHkksx ,oa i;kZoj.k ds chp laca/kksalrr~ miHkksx dk vFkZ D;k gS \ lrr~ miHkksx ,oa i;kZoj.k ds chp laca/kksalrr~ miHkksx dk vFkZ D;k gS \ lrr~ miHkksx ,oa i;kZoj.k ds chp laca/kksalrr~ miHkksx dk vFkZ D;k gS \ lrr~ miHkksx ,oa i;kZoj.k ds chp laca/kksa
dh foospuk dhft, Adh foospuk dhft, Adh foospuk dhft, Adh foospuk dhft, A
What do you mean by sustainable consumption ? Explain the relationship
between sustainable consumption and environment.

vFkok vFkok vFkok vFkok (OR)

xzkeh.k izca/ku vkSj lrr~ fodkl dh vko’;drk dk fo’ys"k.k dhft, Axzkeh.k izca/ku vkSj lrr~ fodkl dh vko’;drk dk fo’ys"k.k dhft, Axzkeh.k izca/ku vkSj lrr~ fodkl dh vko’;drk dk fo’ys"k.k dhft, Axzkeh.k izca/ku vkSj lrr~ fodkl dh vko’;drk dk fo’ys"k.k dhft, A
Describe the necessity of rural management and sustainable development.

iz’u 22iz’u 22iz’u 22iz’u 22 &&&& tSo dhVuk’kd D;k gS \ tSfod fu;a=.k ds laca/k esa vki D;k le>rs gS \tSo dhVuk’kd D;k gS \ tSfod fu;a=.k ds laca/k esa vki D;k le>rs gS \tSo dhVuk’kd D;k gS \ tSfod fu;a=.k ds laca/k esa vki D;k le>rs gS \tSo dhVuk’kd D;k gS \ tSfod fu;a=.k ds laca/k esa vki D;k le>rs gS \
What is biocide ? Explain Biological control.

vFkok vFkok vFkok vFkok (OR)

d`f"k jlk;uksa dh i;kZoj.k ij izHkko dh foospuk dhft, Ad`f"k jlk;uksa dh i;kZoj.k ij izHkko dh foospuk dhft, Ad`f"k jlk;uksa dh i;kZoj.k ij izHkko dh foospuk dhft, Ad`f"k jlk;uksa dh i;kZoj.k ij izHkko dh foospuk dhft, A
Explain the effects of Agrochemicals on env ironment.

----------X----------


